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Intermediate Algebra Practice Test

Evaluate the following expressions. Show all work. Box your final answer.

1. (8+12)+4= ?JJ;L{:@ 4 A+ ea= %%%i
- 4 3659+ M=(3-10= Yy (4277

) < - LA = Y42

;YIE?
5. (9-11)—(7-11)= 6. (6-12)-(3-12)=
a-17 =[2Z] 2 - 3L 3|
7. 3(4+5)= @m);[?ﬁ\ 8. (3-4)+5==2 |72 14 4—@’1{
=) s RS

9. 10-7+2= MO{2 = 2 10. 3+(6-2)= EwH4:fFf‘

Evaluate each fractional expression. Box your final answer. Do not change improper fractions to a mixed
number. Have all answers in lowest terms.
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Evaluate the following if x =4, y =2, and z = 6. First rewrite the expression, substituting the values in for the
variables. Show all steps and box your final answer.
Example: % z(x+y)= % -6(4+2)

= % -6(6)

= 3(6)

=18
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2L x+@=5)= L4y (1,-5)= U+ 2 5mB= 5l) - 3 s 12

23. 3x-4= 3@(>qu1 12 -4 «@ o, 3UD>'2LZ), B3 -4
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Solve the following word problems. Show all work. Box your final answer. If you solve in your head, you
must at least write a math sentence that shows the answer being checked.

Example: A rectangle is 12 cm wide. The area of the rectangle is 60 square cm. What is the length of the rectangle?
Length = 5 cm. | Figured in head. Area = length x width = 60 cm?
5cmx 12 cm = 60 cm?

25. A 1l6-foot long piece of wire is cut into two smaller pieces. One piece is 2 feet longer than the other. What are the
lengths of the pieces? |lp [+
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Y X2 =10

x+2 X AX y2=1b
AX+2-2 =\l

2y =|! AX _ 14
=14 5 ‘




26. Central High School has 1020 students. There are 184 more girls than boys. How many girls are there?

CUS=B{G)~ 1020 1020=B +(B+BY) 83-206
B-? 020=2 B IR & - 2B
Cr=B-+1BY 020-18H = 2B VBY-IBY S ———

g -B G4B+iBle ;02!

Using the domain of x to be {0, 1, 2, 3, 4, 5, 6, 7}, determine which value(s) of x in the domain wili'm
expression true. Show all work. Box your final answer.

Example: 8x =64
8(8)=64 8is not a number in the domain, thereforg x = no numbers in domain

27. x+7=12 28. 3x—4=17

(5)41=12 Za-Uy = vl

- =2 Yz
E AN =21

29. 8x=48

BlL) =483

30. 3x+2=x+6

OXR-R¥2 = %-A+ b

e A2 =2
D Tx= U Ay - U |\A:?{

31. x+1=3 32. x+2=2
(D=2 (Ur2-=2
"=2] X4

33. (x-5)(x-2)=0 34. 9x=x-9

¥-5=0 o7 Y-7=0
(95=0  (2=0

r;_“’—;)yr v =L \

Y=all ¥s 1h domain

35. x-x=16 36. 11+4x=23
UQU'O:HO A v U x= 231
| @ L!X:ZZ
v= 22 ¥X=1no & 1n
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